
OD4 SG 6B hodina 24 2023  0) If necessary: hw wb 19, 20, comparatives/superlatives  -lesson 22 hand-out
0) Checked HW WB  23 24 25 26 (Reading; verb + infinitiv)

0) Maybe: Revision – 1st Conditional – If the archeologist opens the coffin, the mummy will run away
0) Unit 3  DVD (pokud odloženo z minulého týdne)

1) SB 34 – listening, speaking

2) SB 35 Words with -ist suffix (pianist, cartoonist)

3) HW WB 27 28 

4) MATCH the sentence halves:
a) I am afraid my mum won’t agree to…

b) When I grow up, I really hope to…

c) I don’t expect to see… 

d) In the sweetshop, most of my classmates chose to 
have…

e) My parents are planning to…

f) The bronze ring on the ground appeared to be…

g) When I started reading the book about archeology, 
it seemed to be… 

1 TOO HARD FOR ME TO UNDERSTAND

2 REALLY OLD

3 JUST A CUP OF HOT CHOCOLATE

4 LET ME STAY AT MY FRIEND’S FOR TWO NIGHTS

5 SELL OUR HOUSE AND MOVE AWAY

6 EARN A LOT OF MONEY

7 MY FAVOURITE YOUTUBER IN MY SMALL TOWN

5) Infinitiv se také používá po přídavných jménech:
I am happy to be here.  This museum is very nice to visit.

Infinitiv se používá i po přídavných jménech s too  - příliš , enough – dostatečně

This telescope is too heavy to carry.
This photo is not clear enough to see     the details./POZOR, ENOUGH SE DÁVÁ AŽ PO PŘÍDAVNÉM JMÉNU/

The sky is too cloudy to observe very distant stars. 

This telescope is not powerful enough for me to buy.

The archeologists thought it was too risky to watch the stars tonight.

This jade necklace is too expensive to eat meat very often.

I am not rich enough to open the tomb.

The peasants were too poor to buy this jade necklace.

Note: With nouns, the word order is the same as in Czech: enough money, enough water, enough time...


